HONALGZ Name
\Work— over RBreales '

|, Do Cm\j caircled Pra(olemﬁ s Hee 0&‘H‘&tc(/\a4
<laets,
2. \F Yau\ Cu(rr‘e.wvH?i \/\QV& G g\“ac_\a,
@4)/ C- o below you  ean o
57/77 /)7/55/17 M/(%k_ cmc/ /?f*fpw
{o a  relube over any leat
or ?“5 ‘o be dove  Fhe weel
o(— Scheeol WL*\eV\ roe  (edwan

(Jan 9).

5@ "T\f’\\'é ?CLC‘LQ“" W\H b‘é WCD/+(/)ZO SL(mWLGL‘{w:e/
Pow\% [mdw&& {V\ @Ml5ge§ C,aw(ﬁg@m]j



lg’E& l'—%J

......."‘...........‘..O..........‘.Q...‘.‘.O......O‘....l...OC.O....O‘.....'.'..

Selve each formula for the indicated variable.

@V={:f—)2h,forh @SzL(l—r),forr : ®S=€w+wh+€h,forw

Solve for x. State any restrictions on the variables.
g(x+.3)=g @a(x+c)=b(x—c) @i:t’:‘§=t2

@ Two brothers are saving money to buy tickets to a concert. Their
combined savings is $55. One brother has $15 more than the other.
How much has each saved?

e The sides of a triangle are in the ratio 5 : 12 : 13. What is the length of
each side of the triangle if the perimeter of the triangle is 15 in.?
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@ Find three consecutive numbers whose sum is 126.

Solve each equation.

%(x-—3)+(%—x)=5x 1. 5w + 8 — 12w = 16 — 15w

12. 7y + 5 = 6y + 11 13. 12(x + 5) = 1.6(2x + 5)
4. —'3(1 + -g‘-) =2 +3 15. 0.5(c + 2.8) — ¢ = 0.6¢c + 0.3
16. 3(x + 1) = 2(x + 11) @%+T‘6—~%=1
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Solve each inequality. Grapl-the-solations.

1616—4z536 : 2. 20m +3) +1>23 3.7+ 13 + 1) =3
4, —6a <21 @%(4x+5)>%x 6. 2[5x—(3x—4)]<3(2x+3}
7. 8(x — 5) = 56 ‘ 8. 6 —x=7Tx+3 9. 10 -~ x = —2(3 + x)

Solve each compound inequality. Gaph-theselutions..

—9s4x+3$11 @16x.<.320r-—5x<—40

12. 9x < 54 and —4x < 12 13. 6(x +2) = 24or5x + 10 =15

14. 14>3x -1=-10 ‘ W

16. 2(x — 1) < —dor2(x — 1) > 4 (1% 3 - 5= -8and3x - 5=1
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Solve each inequality. Graph-the-celatiens.

4. |[x+5]>12 5. |[k—-3| =19
7. 2t -5 <14 (-2l +1=1
10. |2 - 3w| =4 11. —3|7m - 8] <5

Solve each equation. Check for extraneous solutions.

13. |4x] =28 14. |3x + 6| = ~12

16. |s + 12| =15 17. |-3x| = 63

@ |6x + 7] =5x + 2 20. |7r - 4| = 24
@51x+i'|+6=21 23.)[3x + 5| — 2 =3x+ 4

.[%f__?ﬁ

Write in point-slope form the equation of the line through each pair

of points. »
@0, 1) and (3,0) 10, (%, %—) and (-g, g)

Write an equation for each line; Thes-gFspirtit-tire,
through (—1,3) and parallel toy = 2x + 1
. through (2,2) and perpendicular to y = %x +2
@ through (—3, 4) and vertical
@ througﬁ (4, 1) and horizontal

6. [x+2|=0

5l2b~+ 1] -3=7

12. |2u]l > 6

15. |z = 1| =7z — 13
18. 2|5x + 3] = 16
21. |3¢c| +2 =11

24, =ld+ 2] =7

@—3, ~2) and (1, 6)
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(@ Suppose your drama club is planning a production that will cost

$525 for the set and $150 per performance. A sold-out performance
will bring in $325. Write an equation for the cost C and an equation for
the income I for p sold-out performances. Find how many sold-out
performances will make the cost equal to the income. )

@» Suppose you bought eight oranges and one grapefruit for a total of.
$4.60. Later that day, you bought six oranges and three grapefruits for
a total of $4.80. Now you want to find the price of each orange and of
each grapefruit. Write an equation for each purchase. Solve the systemn
of equations.

Solve each system.
y=x+3 y=2x+3
21
O{5x+y=9 @{5x—y=—3
. ety -1 {x +oy= - {O.Sx + 04y = 08
25.
{ x=sy=1 2x =2 — 10y 0.7x—-0.8y=—6.8

@ Suppose you make and sell skin lotion. A quart of regular skin lot%on WRITE Ao S GRAPH
contains 2 ¢ oil and 1 ¢ cocoa butter. A quart of extra-rich skin lotion _ o= .
contains 1 ¢ oil and 2 ¢ cocoa butter. You will make a profit of $10/qt A S gtem W

on regular lotion and a profit of $8/qt on extra-rich lotion. You have I//VEfPO{A LT IEJ
24 ¢ oil and 18 ¢ cocoa butter. {2 USE THE Conn [ X

a. How many quarts of each type of lotion should you make to - HE L TZOAD
ximize ¥ 7 ~ er— & .
maximize your profit? o ; SeoE
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b. What is the maximum profit?
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